
qB{rtq

EETI6T qffiar 1 s! qfu6s {t3f ryter ryTs fiTf,{trr€ qffi{ qI I iqF
srB Gmrrc+rsn qffi{ qF qsslrr BfrF ql{ffi s{f*tffi (division of

labour) I esT{S Cqlrs=r (rnT Fq Tfrr FrW om;({ fi mf 
"s 

izFffi qgq ffi1s,
ssqq <Fs, isqdl sE-s't;T{t6tl3l TRol CsG lsffrs, CsB t<ql, C+B etrqt
6vgst q6qT sqpg- t{Efrr u11%I s{Fr sM sglrlsr s-flqrt B qFn-qrffi, T{TrFre
srfu Cq{Ht6TT, HIEI]zIIEIT € wrtwl ryrryF+ oM+,dllqqTrcrs s&ra arryl qrfl

rytT ,rrffi'+-(fil?t Rtrtl s qrsol q6d +;tTl cqrffrr FI6T, nuf tE lu,
qRqffr{ wrl TIs ffifFffiI trEr<{Kq lMFr (apprenticeship) zFBl6 s<r qf{
ftr* or+r (,rtTstg qs_l s fdt'rt qrN s=lgl s"roT sqrF{T

w.ftgq Cflr+Tr sKtr ffiFr sr* Cs'trrt Rerq F{c{
qttr+t<<tril{qo csrcTT

"flHqFfu 
qdd r<ut

cffirfl qr, T.g cfl.r eri w4q-4J TIg {EEr{ SIrE',q?FFEtT, Tffi g sIsTrFK RM'
.,qre,dFruot cslrtT cs'lrrT qfisr ffi{ffi s'M c{r;l-E q..Erffi olq oE-so'm qT$T{

Frrrre;r ('mTflg- fuTr B qwr or6({il.x tr;rc#I MFr s s{oBsom {T{l({
B'rE6TFs Frq.HFrT [fu {ooll qrffi qdrs RE RE 515 *srffiu BT K'{

qtrEtfro qreTt crrsrd, s.ts("r$ qIEl HffT @l"r gETr € olTEr#-o$IE xtr€gl({
fl?rcffi trTqsr{5 FIqT Cq-I[, (qmrT{r s wrfl;rt sr(TB-s qdrd-< qlrImor +=rT

ffir r q'rfrs xrflffis +.ds(trr qT&IGT u-{sr"rs Hfr{, x'NrBr o flr1ffi
M qfur"r{rr sGBr Bril$Fs FNrs qrfrqr{g r{B Gq'rqr"rt qr<6T'K{

B,1$TB6 n{sr{ qftfry frp qF qr6'r<( is'"r{H B'ildffi+' Fr+T Frs'K

fr-65qfiTrFHg<ffiqrssr{t


